‘ ili DIFFERENTIAL SKID PLATE

4,

INSTALL RAPTOR | BRONCO | BRONCO RAPTOR | TRX

TOOL REQUIRED

e Wrenches
o 11/16”

e Sockets
o 10mm
o 12mm

O %”

e Ratchet

INCLUDED IN KIT

A. (1) DifferentialSkid Plate

B. (1) Pinion Support Strap

C. (6) M8-1.25 x 25 flange head bolt

D. (1) 7/16-14 x 1” Bolt w/ nyloc nut and washers

E. (6) Powder Coated spacers for use with Ford Performance
Differential cover ONLY (not pictured)

480-718-9800 | INFO@FOUTZMOTORSPORTS.COM | MESA, ARIZONA

@FoutzMotorsports WWW.FOUTZMOTORSPORTS.COM #FoutzMotorsports



http://www.foutzmotorsports.com
http://www.foutzmotorsports.com

/) ilz DIFFERENTIAL SKID PLATE

INSTALL RAPTOR | BRONCO | BRONCO RAPTOR | TRX

DISASSEMBLY

Step 1:

Remove (6) lower differential cover bolts. Care should be taken
to not disturb the cover, which could result in breaking the gasket
seal.

This product can be installed without replacement of the
differential seal, if care is taken.

If you are unsure of your ability to do so, we recommend having
a professional mechanic install this product.

480-718-9800 | INFO@FOUTZMOTORSPORTS.COM | MESA, ARIZONA

@FoutzMotorsports WWW.FOUTZMOTORSPORTS.COM #FoutzMotorsports



http://www.foutzmotorsports.com
http://www.foutzmotorsports.com

‘ ilz DIFFERENTIAL SKID PLATE

| -

Py

INSTALL RAPTOR | BRONCO | BRONCO RAPTOR | TRX

INSTALLATION

Step 1:
Hold your Foutz Differential Skid Plate up to your factory differential
cover, and install supplied M8 bolts and tighten.

= B |
< =
V‘.

. ¥ | ; BEEN €
e Ram TRX or Raptor & Bronco with Ford Performance Cover:
It is required to have spacer washers between the diff skid and

the cover. Use supplied M8 bolts and tighten.

(see next page for 2019 raptor)

480-718-9800 | INFO@FOUTZMOTORSPORTS.COM | MESA, ARIZONA

@FoutzMotorsports WWW.FOUTZMOTORSPORTS.COM #FoutzMotorsports



http://www.foutzmotorsports.com
http://www.foutzmotorsports.com

"\l DIFFERENTIAL SKID PLATE

4,

INSTALL RAPTOR | BRONCO | BRONCO RAPTOR | TRX

Step 1 (cont.)

e 2019 + Raptor
You will need to cut the two fins on the bottom of the differential,
use supplied diff cover bolts

480-718-9800 | INFO@FOUTZMOTORSPORTS.COM | MESA, ARIZONA
@FoutzMotorsports WWW.FOUTZMOTORSPORTS.COM #FoutzMotorsports



http://www.foutzmotorsports.com
http://www.foutzmotorsports.com

"\l DIFFERENTIAL SKID PLATE

4,

INSTALL RAPTOR | BRONCO | BRONCO RAPTOR | TRX

Step 2:

Place pinion support strap across the front side of the differential skid
plate (closest to the driveshaft), and install supplied 7/16"bolts
with nuts and washers.

Due to casting variations, the holes in the differential skid plate and
the pinion support strap, are oversized to allow for some adjustment
to ensure the best fit.

Tighten Bolts.

480-718-9800 | INFO@FOUTZMOTORSPORTS.COM | MESA, ARIZONA

@FoutzMotorsports WWW.FOUTZMOTORSPORTS.COM #FoutzMotorsports



http://www.foutzmotorsports.com
http://www.foutzmotorsports.com

